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EERNRE THAEE BFIMBREIRE RS

% R R - AR B £ G B ® # wm =
[=R:3E 7,797, 491
BITREES 7,797, 491
BITREES 7,797, 491
EEAHE 7, 635, 200
FHEZER 386, 800
1 FHE#ER 1.00 386, 800 386, 800
=
BRI EREE 238, 800
2 BERUNERE 1.00 238, 800 238, 800
=
MBI EDORET 1,634, 200
3 ETEGOER 1.00 693, 700 693, 700
=
4 FETEEORHRE 1.00 940, 500 940, 500
=
A EDRE 4,467, 400
5 T HEDRE 1.00 4,467, 400 4,467, 400
=
R 401, 900
6 MEEMERL 1.00 401, 900 401, 900
=
ek - W& 506, 100
1 EHTHE 1.00 109, 800 109, 800
]




FBEARRE THAEE BFIMBREIRE RS
% [ g - BRTE Bifg = B @ & #
8 hfEmE 2.00 109, 800 219, 600
El
9 HR|E 1.00 176, 700 176, 700
El
EERE 162, 291
EHRAMRE 7,291
10 EHRARE 1.00 71,291 71,291
=
R 91,000
1 XBRRR 1.00 91, 000 91, 000




iR SHMAEE BPIMBE TR L5

4 g B - K& B % = L] ® = W=
BRI 7,635,200 + 162, 291 7,797, 491
EEAGE 7,635, 200
BE#RE 162, 291
T DA IR { 7,635,200 x 53.85% ( 35% + (1 — 35%) ) 4,111,555
e 2 i 7,797,491 + 4,111,555 11,909, 046
—REERF 11,909,046 x 53.85% ( 35% + (1 — 35%) ) — 2,067 6,410, 954
KBS 11,909, 046 + 6,410, 954 18, 320, 000
HBEREALE 18,320,000 x 10.00% 1,832,000
e EHTL 18,320,000 + 1,832,000 20, 152, 000
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THAFE BFMBREIRES

=1
B - FHEER 1RHY
% 7 R - AR R B3 = B & # & B &
HEnR
A 1.00 66, 900. 00 66, 900
EX: T TC D)
A 1.50 58, 600. 00 87,900
A (A)
A 2.50 51, 200. 00 128, 000
A (B)
A 2.50 41, 600. 00 104, 000
& it YEZREN - 1.00K 386, 800. 00 386, 800
&S :2
2 FF : BRI ERE 1RHY
% 7 R - AR R B3 = B & # & B &
A (A)
A 1.50 51, 200. 00 76, 800
A (B)
A 2.50 41, 600. 00 104, 000
Hftt &
A 2.00 29, 000. 00 58, 000
& i YEZRED - 1.00 238, 800. 00 238, 800
&S :3
& BIEHORE 1RHY
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 2.50 58, 600. 00 146, 500
A (A)
A 4.00 51, 200. 00 204, 800
A (B)
A 2.50 41, 600. 00 104, 000
HEm (C)
A 5.50 32, 800. 00 180, 400
Hftt &
A 2.00 29, 000. 00 58, 000
& i YEZREN - 1.00K 693, 700. 00 693, 700
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THAFE BFMBREIRES

EE .4
L I EO®RE 1RHY
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 4.50 58, 600. 00 263, 700
A (A)
A 4.50 51, 200. 00 230, 400
A (B)
A 6.00 41, 600. 00 249, 600
HEm (C)
A 6.00 32, 800. 00 196, 800
& it YEZREN - 1.00K 940, 500. 00 940, 500
EE =)
L I AED®RE 1RHY
% 7 R - AR R B3 = B & # & B &
EX: T TC D)
A 15.00 58, 600. 00 879, 000
A (A)
A 21.00 51, 200. 00 1,075, 200
A (B)
A 23.00 41, 600. 00 956, 800
HEm (C)
A 28.00 32, 800. 00 918, 400
Hftt &
A 22.00 29, 000. 00 638, 000
& i YEZRED - 1.00 4, 467, 400. 00 4,467, 400
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THAFE BFMBREIRES

&S :6
B MEEERK 1%y
£ 7 R - BIRTiE BARL #H = BO(f | # B &
F1EBER GEED
A 1.50 58, 600. 00 87,900
AR (A)
A 2.50 51, 200. 00 128, 000
AR (B)
A 2.50 41, 600. 00 104, 000
HAf (C)
A 2.50 32, 800. 00 82, 000
= it YEZERED 1. 00X 401, 900. 00 401, 900
&5 .17
2 . BATHE HEER
£ 7 R - BIRTiE BARL #H = BO(f | # B &
F1EBER GEED
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
= it YEZERES ¢ 1.00[E 109, 800. 00 109, 800
%5 :8
AF : hEERE 1EHY
£ 7 R - BIRTiE BARL #H = BO(f | # B &
F1EBER GEED
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51,200
= it YEZERES ¢ 1.00[E 109, 800. 00 109, 800




RIER-TEI/\vr— SHAERE BPIMBETRILE

&5 :9
2 . ZB|E HEER
£ 7 R - KT B B = BO(f & | W E B &
AR
A 1.00 66, 900. 00 66, 900
F1EBER GEED
A 1.00 58, 600. 00 58, 600
AR (A)
A 1.00 51, 200. 00 51, 200
& it 1YEZHER - 1.00[E 176, 700. 00 176, 700
H5:10
&% BEHRARE 15ty
£ 7 R - BAK~TiE B B = BOf & | W E B &
EHARE
= 1.00 71, 291.00 71, 291
& it 1YEZHEH - 1.00K 71, 291.00 71, 291
&H#5: 1
B EBBRR 15ty
£ 7 R - KT B B = BO(f & | W E B &
EBHRRE
= 1.00 91, 000. 00 91, 000
& it 1YE%HEH - 1.00K 91, 000. 00 91, 000




